XYZ,,=100.0, 100.0 , 100.0

8, =3[ (x=X) /)
bz bylz/y
=1, b,y =04

X, = 0,110, B, = 0,900
Crg=[AF+B

6 Ostwaldcolours (o)

of maximum (m) C,g in
linear colour space Cyg 5. Y)
lllumin. EOO, Y, =10G Y\=50

Name Range X,

o Zy Ry Yy A A
R, 570775 8279 7026 50.12 ‘0.4074 03458 568 S0

V) 4947775 9173 97.45 53.1 03786 0.4022573 463
G, 494570 59.04 77.29 53.07 0.3117 0408 536 536c
C, 380_570 67.35 79.88 100.020.2724 0.323 489 598
B, 380_494 58.41 5269 97.05 0.2806 0.2531 463 573
M,570_494 911 72.85 97.07 0.349 027915360536
W, 380_775 100.0 100.0 100.0 0.3333 0.3333 100%
N, 380_775500 500 500 03333 03333 50%
7,380 775180 180 180 03333 03333 18%
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Parameter:
Y & Name
llluminant EO0
Y,,=100 Y,=50
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